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Firstly he admitted - 717 RPT NN

OVERVIEW!
oY 271 maintains that the 721 of the 701X is w3 if he is 77 that they had relations.
This Moo reconciles our XINx with the X°310 in NN,

= N2 NP NI,
And according to the first opinion in n3% NO07”; which maintains that the npY?nn»
between 2IRAWY 27 is in a case of INO1IR YV XA7; it is known that the 7017X1 017X had a relation;
where 27 maintains T2 797 and 9RWW maintains w70, It is difficult therefore to
understand why 701> 27 maintains that since the 017X was 771 (which is seemingly the same as
INOR 9 X37), therefore the 721 is 7w>.> Moo explains that our ®°210 is discussing a case -

- NYYNI N1 NYT
where she is not generally promiscuous. This will explain why X121 27 who maintain
there (where she is SRnvyn Xn™7), that the child is either a 7t or a *PInw, can agree that here the
child is 2w, since we are discussing a case of Xn7yn Rn»7 K7,

- YINT NN
And according to the alternate opinion in m»2 which maintains that the np1omn
between 2RI 27 is in a case of 772vNIW 701K (where we do not know that the 70171 018 had
relations), then we can say that our case is -
= 199 1957Y NYTYT NN NI RPT 119D RNDYN N1DT II99NT
even when the 701X is X»byn K»7, since in our case the 01X admits to having
(continuous) relations with the 77017, we ‘cast’ the child after the o1x; we assume
that it is his child, since he was 17; as opposed to the X713 in M»n1> where we do not know
whether they had relations, therefore YX1w1 27 maintain that the child is a >PInw 21n respectively.

SUMMARY

If the npY?mn between XMWY 27 is by WNOIIXR HY X237, then we have to say that the
nPYonn is in a case of XYY X»>7 and our X°AI10 is in a case where Xnovn 817 XY,
However if the npY?nn is by 772ynw 107X, then we can maintain our case even by
XYM Ra*7, since the 01X is a7m.

' See (‘Overview’ to) previous X771 77"7 MdOIN.

% See w"w, who points out that this question was already answered (differently) in the end of the previous "7 Mmoo
X177, In our X7n3 the 017X claimed to have a continuous relation with he 7017X; as opposed to N2’ where it occurred
only once. See footnotes # 3 & 4.

? This explanation is valid only according to 27, there. However according to »ax, who maintains that the np>mn»
there is even if Xnovn &7 &2, MooIN will have to resort to the answer given at the end of the previous moon. See
previous footnote # 2.

* It seems that our Moo is the conclusion of the previous X177 1"7 Moo, The end of the previous MooIN reconciled
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THINKING IT OVER
Is there an advantage of establishing that our ¥°210 is discussing a case of “Xn™7 X9
as opposed to establishing that our X*310 is discussing a case of °712777 Mx*a?

This chart illustrates the two MW in N2 Noon according to ¥271 »ax and how it
is reconciled with our X210 according to X717 7"71 X177 7”7 MdOIN.
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our ¥>210 with the np12mn of P& 21 according to »ax (by RXn2yn &n»7 ). This was accomplished by assuming that
here the 01X was continually with the ;77017X, while in N2> there was only one known relationship. According to X237
however, there is no need to make this distinction. In fact 101 27 merely stated 777 Xp7 X717'. He did not seem to
indicate that the 721 is 7w> because of their continuous relationship. Rather the 7877 of even one 182 is sufficient.
mooIn makes different distinctions; either that here we are discussing a case of Rn2¥n Xn»7 X7, or that here there was
a IXTIT; as opposed to the X713 in N2 where it was either X12¥n X7 or there was no AT

> This is the answer our MooIN offers.

® This is the answer of the previous X177 77 M2

7 Our ®00 is discussing 771277 MX°2 771; therefore everyone admits the 791 is w3 (X177 7" 70).

¥ 7rm x°7 means that she is suspect of having relationships with the 01X.

? Our X0 is discussing ¥2™7 &2; therefore everyone admits the 791 is w2 (X701 7" 7).

' This will also include a case of 777.

" Our x°x0 is discussing 771, which is even stronger than 1% X2°7; surely the 721 is w3 (X771 7" 7).
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